ANNUAL EXAMINATION 2019-20
GLASS: L% TIME: 3hrs
SUBJECT: SOCIAL SCIENCE MARKS: 80
General Instructions: S — ——
The question paper has 3§ questions in all

1.

1. Marks are mndicated against each question

1. Questions from serial number 1 to 20 are objective type questions. Each question carrics
one mark. Answer them as instructed.

v, Questions from sertal number 21 to 28 arc 3 marks questions. Answer of these questions

should not exceed 80 words each.

Questions from serial number 29 to 34 are 5 marks questions. Answer of these questions

should not exceed 120 words each.

Question number 35 is a map question of 6 marks with two parts - 35 a. from History (2

V1.
marks) and 35b. from Geography (4 marks).

SECTION A
1. Match the following items given in column A with those in column B. Choose the correct answer

(1]

from the options given below:

COLUMN A COLUMN B

Active citizens | 1 Tax levied by the
church

Society of France
before 1789

3 Entitled to vote

Tithe 4 Services by peasants
to lords

Feudal
. 2
privileges

B
C. | Old Regime
D

What was the Comintern?
(a) Bolshevik-founded international union of pro-Bolshevik socialist parties.

!\J

(b) USSR’s Communist University.
(c) Collective farms in USSR.

(d) Term refers to non-Russian communities in USSR

Which one of the following is the longest rivers of the peninsular India?

(a) Narmada (b) Godavari (c) Krishna (d) Tapi



4. What docs Bugyal mcan?
OR (1

Who was the first inspector general of forests in Indja?

5. Complete the following table with correct information with regard to the Western Ghats: [1]
B ste shats: |

The Western Ghats Average Height Highest Peak
?
6. What are called ‘Mango Showers’? Why? 0
7. Correct the following statement and rewrite: 0]

Literacy rate among females is higher than males.
OR

The workforce population includes people from 25years to 45 years.

8. Which language is the word democracy derived from? (1]
OR

How is electoral system in Fiji non-democratic?

9. Who exercises the control over those who run the government in India? [1]

(a) President (b) Lok Sabha  (c) Rajya Sabha (d) Judiciary

10. Election held to fill the vacancy caused by death or resignation of a member of legislature is

(1)

known as

One-third of the seats are reserved for -------------- in local bodies, in rural and urban areas.

1. How a state (South Africa) denounced by the entire world was being seen as a model of
(1]

democracy?
OR

Why do we need to make amendments in our constitution?
12. Ahmad lives in a village of Hisar in Haryana. He has a small farm of 2 hectares. He himself,
e tilling, sowing the seed and

d his elder son Asif, do all the farm related work lik
rop fails. One

his wife an
ndent on rainfall. Every year, most of his ¢

manuring. For irrigation, he is depe
emical fertilizers and pesticl

iend suggested him to use a special type of seeds, ch

des.

day, his fr



14.

-

15.
16.
17.

18.

19.

He followed his friend's
s S suggestion, 1y

- He took 4

af

items. This time his Crops did not 1y

’ Miculture loan and arranged the aforesard
I Yue

- W Given abong (lm m‘(‘l‘ his production is increased

he used to achieve more pProduction: e e o e et
(a) Muluple croppmg method !

(b) Moder farming method

(¢) Traditional farming methog

(d) None of the above

- Which of the following 1 el
218 not related 1o poverty? [1]

(a) Parents are not able ¢ 1 chi

0 send their children o school
(b) Lack of clean water and sanitation faciitics
(¢) Lack of money to buy a new car.
(d) Lack of regular job at a minimum decent level.,
The government distributes food grains to the deficit areas and among poor strata of society at a
price lower than the market price is also known as
(a) Fair Price.  (b) Issue Price (¢) Minimum Support Price

In unemployment, certain months do not provide much work to the people. [1]

[1]

(d) None of these  [1]

Mention any one basic difference between land and capital (money).

Which of the following is a significant step towards providing elementary education to all the
children in the age group of 6-14 years? (1]

a) Sarva Shiksha Abhiyaan

b) Mid-Day Meal Scheme

c) Adult Education Programme

d) Non-Formal Education
What is the main aim of Mahatma Gandhi National Rural Employment Guarantee Act,2005?
[1]

Which of the following is a fixed capital? 1

a) Wool
b) Money to make payment

c) Colours

d) Machines
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